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1. Introduction
In RAN4 #82 meeting, a way forward regarding on intra-cell interference modelling and simulation cases for BS IC was approved [1], in which simulation cases and simulation assumptions for equal SNR and unequal SNR were presented. In this contribution, we provide the simulation results for these cases.
2. Discussion
The simulation cases for equal SNR and unequal SNR based on the agreed way forward [1] are listed in Table 1 and Table 2. Note that only results without timing and frequency offset were provided.
In unequal SNR cases, 3dB SNR gap is used as depicted in [1]:

· For 2 intra-cell UEs: the SNR of UE1 is 3 dB lower than that of UE2. 

· For 4 intra-cell UEs: the SNR of UE1 and UE3 is the same, the SNR of UE2 and UE4 is the same, the SNR of UE1 & UE3 is 3 dB lower than that of UE2 & UE4. 

2.1 Equal SNR

Table 1 Simulation cases for equal SNR

	Simulation cases
	Simulation assumptions

	E1-a1
	2UEs; EPA5 low, ETU5 low; MCS 10; DIP1= -0.43 dB

	E1-a2
	2UEs; EPA5 low, ETU5 low; MCS 15; DIP1= -0.43 dB

	E1-c
	2UEs; EPA5 low, ETU5 low; MCS 21; DIP1= -0.43 dB

	E1-b1
	2UEs; EVA70 low, ETU70 low; MCS 15; DIP1= -5.45 dB

	E2-a1
	4UEs; EPA5 low, ETU5 low; MCS 10; DIP1= -0.43 dB

	E2-a2
	4UEs; EPA5 low, ETU5 low; MCS 15; DIP1= -0.43 dB

	E2-b1
	4UEs; EVA70 low, ETU70 low; MCS 15; DIP1= -5.45 dB


Simulation results are provided in Fig 1~Fig 2 for 2UEs case and 4UEs case respectively.
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Figure 1 Simulation results for 2UEs cases
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Figure 2 Simulation results for 4UEs cases
2.2 Unequal SNR

Table 2 Simulation cases for unequal SNR

	Simulation cases
	Simulation assumptions

	U1-a1
	2UEs; EPA5 low, ETU5 low; MCS 10; DIP1= -0.43 dB

	U1-a2
	2UEs; EPA5 low, ETU5 low; MCS 15; DIP1= -0.43 dB

	U1-b1
	2UEs; EVA70 low, ETU70 low; MCS 15; DIP1= -5.45 dB

	U1-b2
	2UEs; EVA70 low, ETU70 low; MCS 10; DIP1= -5.45 dB

	U1-c
	2UEs; EPA5 low, ETU5 low; MCS 21; DIP1= -0.43 dB

	U1-d
	2UEs; EVA70 low, ETU70 low; MCS 10 MCS15; DIP1=-0.43dB

	U1-e
	2UEs; EVA70 low, ETU70 low; MCS 15 MCS10; DIP1=-0.43dB

	U2-a1
	4UEs; EPA5 low, ETU5 low; MCS 10; DIP1= -0.43 dB

	U2-a2
	4UEs; EPA5 low, ETU5 low; MCS 15; DIP1= -0.43 dB

	U2-b1
	4UEs; EVA70 low, ETU70 low; MCS 15; DIP1= -5.45 dB

	U2-b2
	4UEs; EVA70 low, ETU70 low; MCS 10; DIP1= -5.45 dB

	U2-c
	4UEs; EPA5 low, ETU5 low; MCS 10 MCS15; DIP1= -0.43 dB

	U2-d
	4UEs; EPA5 low, ETU5 low; MCS 15 MCS10; DIP1= -0.43 dB


Simulation results are provided in Fig 3~Fig 4 for 2UEs case and 4UEs case respectively.
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Figure 3 Simulation results for 2UEs case
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Figure 4 Simulation results for 4UEs case
2.3 Summary
BC IC receiver gains under different simulation cases are summarized in Table 3 and Table 4 for equal SNR and unequal SNR respectively.
Table 3 summary of results equal SNR simulation cases
	Case No.
	Receiver Type
	SNR(dB) @ 85% TP
	Gain (dB)

	
	
	UE 1 
	UE 2 
	UE 3 
	UE 4 
	UE 1 
	UE 2 
	UE 3 
	UE 4 
	Average

	E1-a1
	Baseline
	5.73
	5.45
	
	
	4.06
	3.68
	
	
	3.87

	
	IC
	1.67
	1.77
	
	
	
	
	
	
	

	E1-a2
	Baseline
	11.72
	11.79
	
	
	3.67
	3.69
	
	
	3.68

	
	IC
	8.05
	8.1
	
	
	
	
	
	
	

	E1-c
	Baseline
	18.02
	18.15
	
	
	3.29
	3.13
	
	
	3.21

	
	IC
	14.73
	15.02
	
	
	
	
	
	
	

	E1-b1
	Baseline
	13.09
	13.41
	
	
	1.66
	2.01
	
	
	1.835

	
	IC
	11.43
	11.40
	
	
	
	
	
	
	

	E2-a1
	Baseline
	-0.91
	-0.43
	-0.25
	-0.83
	3.4
	3.91
	4.09
	3.47
	3.7175

	
	IC
	-4.31
	-4.34
	-4.34
	-4.30
	
	
	
	
	

	E2-a2
	Baseline
	6.98
	6.68
	7.03
	6.83
	4.39
	4.02
	4.38
	4.18
	4.2425

	
	IC
	2.59
	2.66
	2.65
	2.65
	
	
	
	
	

	E2-b1
	Baseline
	12.06
	11.99
	12.18
	12.0
	3.06
	2.99
	3.2
	3.01
	3.065

	
	IC
	9.0
	9.0
	8.98
	8.99
	
	
	
	
	


Table 4 summary of results equal SNR simulation cases
	Case No.
	Receiver Type
	SNR(dB) @ 85% TP
	Gain (dB)

	
	
	UE 1
	UE 2
	UE 3
	UE 4
	UE 1
	UE 2
	UE 3
	UE 4
	Average

	U1-a1
	Baseline
	6.60
	1.85
	
	
	6.45
	3.2
	
	
	4.82

	
	IC
	0.15
	-1.35
	
	
	
	
	
	
	

	U1-a2
	Baseline
	12.25
	7.7
	
	
	6.1
	2.6
	
	
	4.35

	
	IC
	6.15
	5.10
	
	
	
	
	
	
	

	U1-b1
	Baseline
	14.01
	9.76
	
	
	4
	0.76
	
	
	2.38

	
	IC
	10.01
	9.0
	
	
	
	
	
	
	

	U1-b2
	Baseline
	8.0
	3.34
	
	
	4.05
	0.36
	
	
	2.20

	
	IC
	3.95
	2.98
	
	
	
	
	
	
	

	U1-c
	Baseline
	18.78
	14.61
	
	
	5.83
	2.37
	
	
	4.10

	
	IC
	12.95
	12.24
	
	
	
	
	
	
	

	U1-d
	Baseline
	6.61
	8.01
	
	
	2.56
	4.02
	
	
	3.29

	
	IC
	4.05
	3.99
	
	
	
	
	
	
	

	U1-e
	Baseline
	12.20
	0.92
	
	
	7.6
	0.07
	
	
	3.84

	
	IC
	4.60
	0.85
	
	
	
	
	
	
	

	U2-a1
	Baseline
	0.5
	-4.0
	0.5
	-4.0
	5.37
	2.68
	5.37
	2.66
	4.02

	
	IC
	-4.87
	-6.68
	-4.87
	-6.66
	
	
	
	
	

	U2-a2
	Baseline
	8.4
	2.95
	8.35
	2.4
	8.05
	3.64
	8.03
	3.13
	5.71

	
	IC
	0.35
	-0.69
	0.32
	-0.73
	
	
	
	
	

	U2-b1
	Baseline
	13.1
	8.2
	13.1
	8.2
	5.8
	2.26
	5.8
	2.23
	4.02

	
	IC
	7.3
	5.94
	7.3
	5.97
	
	
	
	
	

	U2-b2
	Baseline
	6.43
	1.2
	6.48
	1.21
	4.36
	1.65
	4.39
	1.65
	3.01

	
	IC
	2.07
	-0.45
	2.09
	-0.44
	
	
	
	
	

	U2-c
	Baseline
	2.24
	4.42
	2.24
	4.41
	4.39
	5.05
	4.39
	5.04
	4.72

	
	IC
	-2.15
	-0.63
	-2.15
	-0.63
	
	
	
	
	

	U2-d
	Baseline
	10.45
	-4.0
	10.35
	-4.0
	10.82
	2.78
	10.72
	2.78
	6.78

	
	IC
	-0.37
	-6.78
	-0.37
	-6.78
	
	
	
	
	


3. Conclusion
In this contribution, simulation results without timing offset and frequency offset are provided. 
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